
 

KANTIPUR ENGINEERING COLLEGE 

Dhapakhel, Lalitpur 

Model Entrance Test (2074) 

 

Solution Set: II (A) 
 

Section I 

 
1. (B)   2. (C)   3. (A)   4. (D)   5. (D) 

6. (D)   7. (A)   8. (A)   9. (A)   10. (C) 

11. (C)   12. (C)   13. (B)   14. (B)   15. (B) 

16. (B)   17. (A) 

18. (C) 

Solution 

  9.8 g of H2SO4 = 4.8. g of metal 

  49 g (gram eq.wt. of H2SO4 ) = 4.8 / 9.8 ×49 = 24 g ( gram equivalent wt.) of the metal  

  Equivalent weight of the metal =24 

19. (D)   20. (D)   21. (A)   22. (C)   23. (B) 

24. (B)   25. (D)   26. (C)   27. (A)   28. (D) 

29. (B)   30. (A)   31. (C)   32. (C)   33. (B) 

34. (D)   35. (A)   36. (B)   37. ( D)   38. (C) 

39. (A)   40. (B)    

41. (D)  

Hint: A (a, 0, 0), B(0, b, 0), C(0, 0, c) 
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cba
   

  3,3,3  cba  

42. (A)  

Hint: |adj. A| = |A|
n-1

 

43. (C)   

Hint: ,2 xx   

 xx  22  

44. (A)   
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45. (A) Hint: x
m
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loglog    

 2log
1

1
log

2
1  x
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xy xx
 

46. (C)  
 

47. (B)   48. (C)   49. (B)   50. (D)   51. (D) 

52. (B)   53. (C)   54. (A)   55. (A)   56. (B) 

57. (C)   58. (D)   59. (B)   60. (D).    

Section II 

61. (A)   62. (C)   63. (C)   64. (A)    

65. (B) 

Solution:  

               NaCl                   Na 
+
 + Cl

- 

               2 Cl
-
  - 2e                   Cl2 

                   2F        = 22.4 litres at NTP 

               For 2.24 lit Q = 2 /22.4 × 2.24 = 0.2F = 0.2×96500 C 

                I= Q / t = 0.2 × 96500 / 60 × 60 = 5.36 amp 

66. (D)       Solution: V1 =0.6 litres = 1000 × 0.6 ml = 600 ml     ;    S1 =0.205 N           

                      S2 =   0.1N, V2   = ?     

                      We know   V1 S1 = V2 S2 

                      V2   = V1 S1 / S2  = 600 × 0.205/ 0.1 = 1230 ml  

                      The amount of water = (1230 – 600) ml = 630 ml                           

67. (A)   68. (A)    

69. (C)  

Solution:  

 22222 RyRxRRyRxR   

 NRyRRx 16)12()20( 2222   

70. (C) Solution: Since Kl = content 

   K
1
 l/2=kl 

   k
1
 = 2k 
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71. (D) 

Solution: 

T = (Lf – Li)/t   =  (4 L0- L0)/4= ¾ L0 

 
72. (D)  

Solution: 
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73, (B)  

Solution: 

 tns
LFPUFP

LFPreadingScale
tancos
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
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74. (B) 

Solution: 

 sec336
60

2.48060





t

mlf
p  

 75. (D) 

Solution: 

 mV
dy

dv
E

zyxx /6
0,00



  

 mV
dy

dv
E

zyxy /8
0,0,0




 

 
00,0 


zyxz

dz

dv
E   

 mvEEEE zyx /10222   

 NqEF 20102   

76. (D) 

Solution:  

 jvqU 101.0200
2

1

2

1
  

77. (B)  

Solution: 

 Let R be the resistance of each wire 

 In series , heat produced is Q1 = ϑ
2
 /2R 

 In parallel, heat produced is Q2 = ϑ
2
 / R/2 

 4:1
4

1

2

1 
Q

Q
   

78. (C)  

Hint: 
r

ce
1

sin   
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79. (A) Hint:  

 srad
LC

w /50
1

  

 80. (A)  Hint: 
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81. (B) Hint: 

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82. (C)  

Solution:  
 In This reaction, the energy released will be in the form of heat energy 

 Energy released  = Binding energy of 2 He
4
 minus twice the binding energy of 1 H2 

  = 28 = 2 x 2.2 = 23.6 Mev 
83. (D)  

Solution: 
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   t = 2T = 2 x 4 = 8 months. 
 

84. (B)  Hint: cba


  

22 )()( cba


  
222 ||..2|||| cbaba


  

85. (D) Hint:  Domain : 4x – x
2
   0 

Range : Min. = 0,  Max. = 2 
 

86. (A) Solution: 
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87. (C)   88. (C)   89. (A)   90. (B)    

91. (D) Hint:     6! – 5! = 600 

92. (A) Hint: )1(log)1(log
1

)}1()1{(
log)1(log 3

2
2 xx

x

xxn
xx 




  

93. (A)    

94. (C) 

Solution: 
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95. (C)   96. (D)   97. (D)    

98. (B) 

Solution: 0)()()( 111  xfxfxx  

 )()( 11 xfxf   

 

99. (B)   100. (D)   

 

 

  

 

 

**************************************************************************************** 
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